N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

2 F ; 2 F 2
g sl : 8 sl g
=0°F : =10°F £
F <] E Q
F 2 F g
r = ke
10*F 1 E
E E S
10°F 10°F
10%F 10%F
i i 10?
10F 10F
1 i SRR e R
o . 00000001__Global se__R
T : DOM v0001 R000000001 ¢ Global CMSSW XY Z_RECO
& H A : : = =
| SEEEEE - - R R A A RO I+
1l 1l M
\ .
H‘iHEml I : Lo N E oL R R
o =25- 20 15-10-5 0 5 10 15 20 25 0'—25—20—1 5-10-5 0 5 10 15 20 25 0'—“25—20—15—10 -5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 F 2 F 2 ¥ 2
8 sl 8 [ g 8
=10° =10° 5 £
@ ot o
= % %
5 £ 210
10* =
1 3
10° E :
107ty CRRREE CERRES Byt
10° E 5 :
10f----i--- | LT TURPE AP
1= 19
o
T
o
..... -4
0¥p =20 -10 0 10 20 30 O¥[eT=20 -10 0 10 20 30 0¥5 20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


